
1 

Thank you for purchasing Happy Trails products.  Our products are proudly hand  made in Boise Idaho, 
USA.  If you have any questions or concerns about the installation of this product, please contact us di-

rectly at 1-800-444-8770 or e-mail installation@happy-trail.com. 

 
Before you begin, place the bike on a hard level surface 
where you have room to work.  Lay out the parts included in 
this kit and compare to the parts list in these instructions.  If 
any parts or hardware are missing, contact us immediately at 
the number listed above. 

 
NOTE: 
When installing HT guards and racks, leave all 
bolts loose until entire rack is fitted.  This allows the 
rack to move and take up differences in frame con-
structions.  We recommend that thread locking 
compound be used on all bolts. 

Installation Instructions 

 

Installation is very simple.  Refer to the photo below for detail.  Working on one side, thread the M8x45 bolt through the rear most 
mount on the top.  Then start the M8x40 at the passenger peg bracket. 
 
At the front mount on the top of the SL rack, use enclosed spacers if you are not running any type of top rack.  You may need to 
modify the spacers by cutting them to length depending on what top rack you are using.  With no top rack installed, stack both 
spacers to create a 2” spacer then thread the M6x80 bolt through and into the frame. 
 
Once all points are connected, tighten each point to complete the installation. 
 
 

SUZUKI DRZ400S/SM & KAWASAKI KLX400 SL RACK HTP7-3-2  

Point where spacers 

may be needed. 

Bolt List: 

 

2 M8x45 SHCS Upper Rear Mount 
2 M8x40 SHCS Mount @ Passenger pegs 
2 M6x80 SHCS Mount @ Side Panel 
2 5/16 Flat Washer Upper Rear Mount 
2 1/4 Flat Washer Side panel mount 
2 8mm Nylock Nuts Upper Rear Mount 
4 1” Spacers Mount at side panel 
 
 

Parts List: 

 

Left and Right SL rack 
Bolt Kit 
Instructions 
 


